dhw (B5)=3

3
(M O VexrpRes PA—  WVi&w LN . JExr- U /ﬁ

bll: (S'I:'Llﬁ)

dﬂg"t b ez y uZK be«ﬂx & M[WZ§>:3

DAD/\*BW‘( +ol B P R° o ey

m
~
(hg2) e bx (2e)+ Lal020) v Lalop 3)
—
—
S (g'loiﬁ): by e+ by

NI R
5 (&l0,2) =L (=2 12 o 20)+ = (99 )
\

—~ = “
\_//_/_\‘/_\—/



@ PROIEILL) Dix Zf VA b s s 3

@ - n;,\ AULIMJ\/\/ {LM Qﬁ
,,J_.» o = 2V Tk
[ o) 1= En = Gl VvERE _E
D e /\’\——'—'ﬁ
Pii 4 ;—S\lmj’)]%i,— \al'ws<[@\§)f£
. © | &)
Lo(a4.>) . m -
S e ek QD) = [ ol s
O 2[R )E] cos £lE)
[ 9 @l _ (}0%4(0_0\_@)— )
=1 \clﬁ\‘b\vw%v | 25




{e Pio Y

|




_GX _\,S . "X A
,2113_*,// = X+
% N s x (XL

v/_/_/_——&.———\
(X!-2X +2X, b sar): (P2 2K Q\@

"()‘ 9_5( %LK “VX) o \C
Ve
L
OSTHTREC— 2
T e ) ek k)

| A S LX/L/Q(—\’& =

(y zx +Lk=Y) X (— ><+y) (M)( XtTs

M%)~
( ) \( "L\(Z-l' 2 X —Y W"l l-—2 Y& LY

B
\ Xt 2y




—LXt



,LH— _ — X+ Q’;E+C /2
5.7 = _ na =1birc
X = IXH2ZX =Y (x-2)(X24+ 4)
— XAT
! < -—ﬁ— - 2\—(—%:9 [)(*2)(\(2#4)
[x=2) [xE+4) x-2 x>+
ERrT
e Ry
Lo (st - A (;/Z)[xzw)% la
(Y= ) ~ 2T P
—X+5 = A((xz+q)k(%x+c){x—z) Ih = 1t T
ﬂwr:fﬁ&%m VR KT 2R x4+ x—-2C 3
<
X+ = (A+13) xL - (-——LP;A-Q) =< q,_l/,Av—LC _g?
AR =0 Bo-A <1 r(x)= X v x—=
- B+ = % IA+C =—1 - ;_
Ty DS




O pgar
o= (X 4, wﬂ%)

MJ} Xy, 0 ke
Yy O axXEkyt+CE, 4o, € R

T T B
R/[qu 2zl < (3X+@ ;L)(—\—i%) —
bxg v )= (%y+@4z ‘Y Lx\»zzt) v

/F/(‘f/‘(’]ﬂ/):./ﬁg,gjv/ 17‘*’0%[+§%










/{L’, [Qé@ J@Q
%{X.E@ (@Lﬁ/j&k Jr& U ’_> 4—6&%)
=P

ﬂ&+ \@:#Ou//
’ S il

= (X4/‘<'[,6L?:>
B T 1 0 > (M):Q
M\/ 0o 0 5‘*1 :ﬁi\;%/%)cz

e



E27 \ [ §av e ply)
\ﬁ\(w f’v«\(w ) A
[ (x <) (XK +7 ) piw)
2\ @ (k- 0) o) = )(X~1)/>(+/j
‘. fw«»x (%~ 1\[»< +1) A+3 .- oF
Get = -

YA <@/> 1) =g
Qg‘/ﬂlfz’yj









Joi ] A +/7-f/7T

"Iffa\ Jl’z',’ s

e 3l )




]1 —
\ \ L, "
i [ -a)” R
— L
o ¢
_ U ' 6+ '
@*L'%' Wit —(+O) ’ &
a4+ A1 = A %—( Iz wt
10 2 v = T/e/










e R [erd(xD(x-)
—
= 1223
\3(»«\ 7Ur‘>(?<") x-2) = S(x) {
() j(’///?/%*" ’
c (XH\N)[X -2 2) bLC=2
o< g OV [
t C atie+c = -/
-’ | (1) = B FO¥E
~ q,L,o I

_——
Fm (7‘\’\> ‘>U L)o S[x)J,o\)L,\/bH—C



